
f(x)=

1
12
−2<x<10

0
otherwise

Mean of X=

f(x)
=

1
9
−4<

x<5

0 oth
erw

ise

Mean of X
=

f(x)=
15
1<

x<
6

0
otherw

ise

P
(X≠

2)=

f(x)= 1
12 −2<x<100
otherwise

P(|X| >1) =

f(x)=

1
12
−2<x<10

0
otherwise

P(|X|<1.5)=

f(x)
=

1
5
1<x

<6

0 oth
erw

ise

P(X
>4)
=

f(x)=
15
1<

x<
6

0
otherw

ise

P
(X

<
4)=

f(x)
=

1
9
−4<

x<5

0 oth
erw

ise

P(X
<−

2)=

f(x)= 1
12 −2<x<100
otherwise

Standard deviation of X =

f(x)
=

k −
1<x

<11

0 o
the

rwi
se

k=

f(
x)
=

1 5
1<

x<
6

0
ot
he

rw
is
e

P
(X
=
2)
=
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f(x)
=

1
9
−4<

x<5

0 oth
erw

ise

Varia
nce of X

=

f(
x)
=

1 10
−
8<

x<
2

0
ot
he

rw
is
e

M
ea

n 
of

 X
=

f(x)
=

1
10
−8<

x<2

0
oth

erw
ise

P(|
X| >

1)=

f(x)
=

1
9
−4<

x<5

0 oth
erw

ise

P(|
X | <

2)=

f(x)= k −3<x<50 otherwise

k= f(
x)
=

1 5
1<

x<
6

0
ot
he

rw
is
e

M
ea

n 
of

 X
=

f(x)
=

k −
1<x

<6

0 o
the

rwi
se

k=

f(x)=
k
0<

x<
15

0
otherw

ise

k=

f(
x)
=

1 5
1<

x<
6

0
ot
he

rw
is
e

Va
ri

an
ce

 o
f X

=

More resources from www.mathssite.com



f(x)=

1
12
−2<x<10

0
otherwise

Variance of X=

f(x)
=

k 1
<x<

11

0 o
the

rwi
se

k=

f(x)=
k
1<

x<
6

0
otherw

ise

k=

f(x)= 1
9 −4<x<50 otherwise

Standard deviation of X=

f(
x)
=

1 9
−
4<

x<
5

0
ot
he

rw
is
e

P
(X

>
0)
=

f(x)
=

1
10
−8<

x<2

0
oth

erw
ise

P(|
X|<

0.5
)=

f(x)
=

1
10
−8<

x<2

0
oth

erw
ise

P(X
<−

5)=

f(
x)
=

1 10
−
8<

x<
2

0
ot
he

rw
is
e

St
an

da
rd

 d
ev

ia
tio

n 
of

 X
=

f(x)=
112
−
2<

x<
10

0
otherw

ise

P
(−

1<
X
<
8)=

f(x)=

1
9
−4<x<5

0otherwise

P(|X|>1)=
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